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山东省2012年普通高等教育专升本统一考试

英语试卷一

（考试时间：120分钟) 

.注意事项：

一、本试卷分为试卷一、试卷二两部分。

二、将自己的姓名、准考证号码写在试卷和答题卡的相应位置上。考试结束后，把试卷和答题卡放在桌上。教师收卷后才可以离开考场。试卷和答题卡均不得带走。

三、仔细读懂题目的说明。

四、在120分钟内答完全部试题，不得拖延时间。

五、试卷的答案必须填涂在答题卡上，凡写在试卷上的答案一律无效；试卷上所有题目必须在试卷上作答。
第一部分: 听力理解（本大题共20小题，每小题1分，共20分) 

Part I Listening Comprehension

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversation and the question will be spoken only once.
Short Conversations

1. A) Give a speech in Professor Jones class.
B) See Professor Jones after class.

  C) Postpone her meeting with Professor Jones.

  D) Go to the beach with her friends.

2. A) Anything but some meat.        

B) Some fruit only.

  C) Nothing.                            
D) Some meat and fruit.

3. A) The man. 






B) The woman’s mother.
C) The baker.






D) The woman.

4. A) By plane.                            B) By ship.
C) By car.                              D) By bus.

5. A) 76       
 
B) 67



C) 59             
D) 69

6. A) He stopped smoking.            

B) He still smokes.
C) He used to smoke 20 cigarettes a day.     
D) He smokes 10 cigarettes a day.     
7. A) It was better. 






B) It was a disaster.
C) It was not good enough.                
D) It was great.

8. A) Sales clerk and customer.               B) Doctor and patient.  
C) Waitress and customer.                 D) Teacher and student.
Long Conversation 1

Questions 9 to 12 are based on the conversation you have just heard.

9. A) They’re roommates.   




B) They’re families.

C) They’re cousins.   




D) They’re friends.

10. A) She easily got nervous while speaking in front of others.

B) She missed her psychology class.

C) She had not finished her homework.

D) She failed the English exam.

11. A) Go to psychology class.

B) Get fully prepared before speaking in public.

C) Try to forget about people while speaking in public.

D) Never speak in public.

12. A) Men become nervous more than women.

B) Children become nervous more easily than adults.

C) It’s common for women to get nervous.

D) Women become nervous more than men.

Long Conversation 2 

Questions 13 to 14 are based on the conversation you have just heard.

13. A) Expensive.  B) Interesting.   C) Waste of time.   D) Boring.

14. A) Because he has nothing else to do.

B) Because it helps him to get a job in the future.

C) Because he loves studying. 

D) Because he is interested in business management.

Section B 

Directions: In this section, you will hear 2 passages. At the end of each passage, you will hear some question. Both the passage and the question will be spoken only once. After you hear a question, you must choose the best answer from the four choice marked A)、B)、C) and D). Then mark the corresponding letter on the Answer. Sheet with a single line through the center.

Passage One
Question 15 to 17are based on the conversation you have just heard.

15. 
A. A letter of invitation.          
B. A letter of recommendation.


C. A letter of introduction.        
D. A letter of application. 

16. 
A. 1997      B. 1992      C. 1990       D. 2000

17. 
A. Brigitte once changed her job.           
B. Brigitte has never been to Dublin.


C. Brigitte is going to get married in Dublin.  
D. Brigitte is a native English speaker. 

Passage Two

Questions 18 to 20 are based on the conversation you have just heard.
18. 
A. A college in Switzerland.


B. A college in Sweden.


C. A college in Britain.


D. A college in America.

19. 
A. That all the students agreed to accept Elizabeth.


B. That most of the students didn’t mind whether to accept her or not.


C. That some felt proud to have a woman student on the campus.


D. That some thought Liza’s idea very interesting.

20. 
A. Because a famous politician supported her.


B. Because he thought her idea was interesting.


C. Because he took proud in training the world’s first woman doctor.


D. Because he was forced to do so.
第二部分：词汇和语法结构（本大题共30小题，每小题0.5分，共15分）

Part II Vocabulary and Structure 

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A) B) C) and D).Choose the answer that best completes. Then mark the corresponding letter on the Answer Sheet with a single line thought the center.
21. Marry has come; I will put ___________plate on the dining table.

A) a further       B) a spare   


C) an extra         
D) more

22. After interviewing several workers, she came to a (an) ___________that their working conditions were very poor.

A) observation  
B) illustration 

C) conclusion       
D) qualification 

23. He is a student of great intelligence and diligence. ___________, he is a top student in the class.

A) Undoubtedly  
B) Fortunately


C) Nevertheless  

D) In spite 

24. Silk and nylon look alike but they ___________ in origin and cost.

A) refer         
B) infer 



C) differ             
D) prefer 

25. What we would like you to know is that we greatly ___________your timely help.

A) compliment    
B) appreciate

C) thank          
D) attach

26. Mr. Brown had an unusual ___________: he was first an office clerk, then a sailor, and ended up as a school teacher.

A) position    
B) occupation


C) profession     

D) career 

27. It was ___________of you to get up to catch the first bus so that you could avoid traffic jam.

A) reasonable     
B) sensible 

C) sentimental      
D) sensitive 

28. Her beauty can not ___________her stupidity.

A) make out of    
B) make for 

C) make at       

D) make up for

29. Community service can ___________ anything from gardening to helping in old people’s homes.

A) involve       
B) ask



C) insist       

D) remain

30. There seems to be an electrical problem. I’ll get someone to ___________it.

A) look at     
B) look into 


C) look upon  

 D) look out 

31. After the war, Germany became one of Europe’s most ___________ countries.

A) prosperous 

B) improved

C) swift     
 

D) interested

32. New computers are soon out of date since newer models are ___________ constantly.

A) turned up  

B) turned over

C) turned down  

D) turned out

33. The scene in the movie ___________him of his childhood.

A) recalled   

B) remembered

C) recollected  

D) reminded

34 The football match was televised ___________from the Worker’s Stadium.

A) live 


B) living 


C) alive         

D) lively

35. Color-blind people often find it difficult to___________ blue and green.

A) compare      
B) contrast 


C) distinguish       
D) separate

36. Mike’s uncle insists ___________ in this hotel.

A) that he not stay                      B) staying not 

C) not to stay                          D) that he would not stay

37. The office was in darkness ___________ the light over his desk.

A) besides   

B) except



C) except for      
D) rather than 

38. The old lady sat in an armchair, her cat ___________ beside her.

A) lay        
B) lying



C) lied          

D) laying

39. I appreciate ___________ to your home.

A) to have invited                     
B) to be invited

C) having invited                      D) being invited

40. We are living in an age ___________many things are done on the computer.

A) that  


B) which



C) whose   


D) when

41. We could do nothing but ___________till he came back.

A) waiting    
B) wait



C) to wait     

D) waited

42. ___________is known to the world, Mark Twain is a great American writer.

A) As        
B) Which



C) It              
D) That

43. The driver admitted that not only___________, but he didn’t have a driving license either.

A) he was not insured                  B) he was insured not

C) was he not insured                  D) was not he insured

44. She hardly ever leaves the house after ten at night, ___________?

A) nor does she    B) does she


C) so does she         D) doesn’t she

45. The reason Beethoven went away to the country is___________ he was gradually going deaf.

A) since        
B) that



C) because        
D) as

46. She wanted to know what ___________at the meeting.

A) has happened                      B) was happened

C) had happened                      D) had been happened

47. Nobody but Smith and John ___________ in the lab yesterday.

A) were         
B) had been 


C) was be     
 
D) was

48. Mary has just bought herself ___________ dress.

A) a cotton expensive blue               B) an expensive blue cotton

C) a blue expensive cotton               D) a cotton blue expensive

49. Such an idea would never occur ___________ me.

A) to     

B) with



C) from     


D) on

50. Alice, ___________where to find the book, asked her mother where the book was.

A) with no knowledge             

B) never know

C) not knowing                  

D) not to know


                                 升 本 辅 导                    国 科 更 好

